ELEC 2200-001 Digital Logic Circuits 
Fall 2010
Assigned 11/2/10, due 11/9/10
Homework 7
1. A combinational circuit compares two 2-bit positive binary integer magnitudes, A: (A1A0) and B: (B1B0), where the subscript 0 indicates the least significant bit. The output consists of three Boolean functions, G, L and E. G = 1 if A > B, G = 0 in all other cases. L = 1 if A < B, L = 0 in all other cases. E = 1 if A = B, E = 0 in all other cases. Such a circuit is called a magnitude comparator. Write the truth table for this circuit and draw its logic diagram.
2. Write a behavior level VHDL description for the above combinational circuit and submit it in your report.
3. Simulate your VHDL description using the tool ModelSim for all possible combinations of A and B. Include the results in your report in wave or list format to demonstrate all these cases. Verify the correctness of the simulation results against your truth table and comment.





















